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Review:
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o3 Handont Prove fhe identiby
50. cosRK =C0S4x—Sin 4x
LS = 052(40= CoS 4x~Sin 4x = RHS
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WO Sindx-cotx = ~cot X cosZx
LHS = 2 sinxcosx —cotx

= ASINXCOSX «Sink — CosX

l sinX  sinX
= 2sin°XCOSX — cosX
SinX.
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S0 Siny |

= —cotxcos2x =RAS

L2 . sindx = 4siKCoSX— 4¢psx SindX
LRS = sinQ(Zx) =Zsin 2)«@52)5
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b4. Qcos'x ~coSx -2SiIXCOSK+SiNK= COSX

RHS= <cos?>5 = (COSZX)(COSZX )
(COSX‘SI(\)()(Q cosX — I>

= 2cos X ¢osx - 2SI0K 0% X A SIn X
_LHS _

bo. Sindx = 4sioxcosX — B cosx sinx
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8. 5INdX+sINX =4 siox -4 sin X
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